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(FER4EE)
* & B W R (g)
E | AR IR 500~ 1,000~ [1500~ |2,000~ N

500K 1,000k | 1,500k 5| 2,000k 5% | 2,500 5 25005 E

BB 17 99 - - 6 6 21 30 54

EF- A 27 25 - - 2 1 3 7 14

aR 42 34 - - 3 - 14 10 15

SRALET 3 2 - - - 1 - 1 1

= hnEr 1 1 - - - - - 1 -

JIIiDET 5 4 - - - - - - 5

£ RET 1 1 - - - - - - 1

J\EEHET 9 9 - - - 2 - 5 2

B JIIET 1 - - - - - 1 - -

E=]IES) - - - - - - - - -

[il=tig 7 7 - - 1 1 1 - 4

EHHSDRIRY 21 16 - - - 1 2 6 12
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| (ER244EE)
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'y E 9 <a5%§s§é§%<> zot | mmmEn
EJN-IEIN-NEIN-N R IN-NEINURTIN-N | EAB | | ZA8 | BAS | AR |
IR AR 13 13 5 5 43 48 13 13 - - - - 15
BT A #RE 75 96 572 620 27 34 16 16 590 630 200 269 19 25 3,416
EF- 4 1 1 98 98 - - 5 5 129 129 64 64 - - 2,956
a7 44 56 31 56 3 3 5 5 35 60 65 96 16 22 150
IRARET 25 25 75 78 1 1 - - 75 78 7 21 - - 5
= nEy 2 4 47 52 13 13 - - 35 39 3 5 - - 32
JIIiDET - - 62 62 - - 2 2 60 60 15 16 1 1 38
+RET - - 1 1 - - 1 1 10 1" 7 7 1 1 13
J\EEHET - - 62 63 - - - - 65 65 1 2 - - 15
B)I18T 3 10 40 44 - - - - 48 52 24 29 - - 167
AR - - 13 20 8 15 - - 5 5 - - - - 40
fEIE BT - - 133 136 2 2 3 3 128 131 14 29 1 1 -
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SRR
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Ex

BhRL
BERRH 250
ERMET 43
"RH 127
IRALET 11
= hn#r 10
JIDET 15
£RET 0
J\EEHET 13
=MLy 1
w=E)IF 0
fEEET 20
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